1€2'2$

T18'1/L$

00S$

00z$
00T$
000'T$

000°'t$
0SZ$
0s$

00S5$
00S°c$

T112°22%
00S$

000°S$
000°0T$

00S'T$
000°'0z$

[4 48 74

000'T$
00s‘ce$
000°c$
A \WAS

ST0C

068'8$

TST'EPS

0$

0ST$
00T$
00S$

0%
0SZ$
991$

00s$
SLL'YS

TTL'LT%
00S$

000°T$
0009%

00S°'T$
0$

[4 4V 4%

000°T$
000'Z1$
000°Z$
po'LeS

Y102

uadx3z snuijy dwWwoduy [eIoL

sasuadxg jejol

uoROWOo.d

1|\ ®]2AdpueH

aled qed)

pood
sasuadx3 uny Apjesm

Jauuig d8H
AepijoH

WWD
SJUSAT |e1dads

sanjulig
SHIYS
Ajajes

ANiqissod g adoH

juawdinbg
sjuelo
AN
S813|Yly 0] pied sjijsuag
13410
saue|es
bunesadp
sasuadx3y

2wodug jejol

Jxdeida.14
sjuels
ssauisng/|enpiAIpul

dBH
awooug

STOZ B PT0T 196png sa|Iyovy



